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Exercise 1. Подберите правильный ответ.
Mellish school is for
a) small children.
b) older children.
c) small and older children.
The white teachers can’t walk to school because
a) they live far from the school.
b) they don’t like to walk.
c) it’s dangerous for them.
There’s a policeman
a) at the door of the school.
b) near the toilet.
c) outside the washroom.
The white teachers work there because
a) they can’t find a better job.
b) they love their job.
c) they get a lot of money there.
The school needs
a) more money
b) more teachers.
c) more policemen.
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